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7-99. See below:
a. E(1, 3) and F(7, 3); AB =9, DC = 3, EF = 6; EF seems to be the average of AB and CD.
b. EF =4, while 4B =6, and CD =2

c. Sample response: The midsegment of a trapezoid is parallel to the bases and has a length that is
the average of the lengths of the bases.

7-100. It is a parallelogram; the slopes of the pairs of opposite sides are 2 and 0.
7-101. (2,5)
7-102.5b+3h =339, b=h+ 15; 48 bouquets and 33 hearts

7-103. See below:
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arithmetic, #(n) = 3n—2

3

. neither

o

. geometric, r =2

d. arithmetic, (1) = 7n—2

o

. arithmetic, (1) =n + (x— 1)
£, geometric, r =4

7-104. Write all equations in y = mx + b form and compare the slopes. (a) and (d) are parallel, (b) and
(c) are perpendicular.




